[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

9] 1%} 123 0
x x < x
Q Q o (5]
g g g 8
= = S z
£ s 8
=
=]
o
b 102
3 10k
Q v 3 N e =] N S
T e I T 2 T
x |L|.I| ANlE @ 13 ! 14
1 .rrlvl NAaaN A
o 0 2 4 6 18 20 10 12 14 16 18 20 O'TJ 2 4 6 12 14 16 18 20 O'T) 12 14 16 18 20
track x2 track x2 track x2 track x?
[ [erser
2] 1%} F 2] F 0
x < o X o x
Q Q [=] (=)
g g " g . 8
= o 10°F o 10°F °
[ [} Q
g2 F ; " - i
” 3
10° e - 10° f 3
o <12
102 L} » wh 8
%
o |\||| . 1 o eE R o . o
K lllll........ ... ..lllllllll'%'ll‘ 3 llllllllll..lllllllh.llﬁlllll...lllll...llllll s
e i TR R x i Wi o

i r& i "{ "&




	Contents
	Page 1


